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2. AABCOIM AHIT7FHAYL o, 228 2717

A

@® 20° @ 25° ® 30° @40° ® 50°

/x =180°—(40°+30°) x2=40°




& oA AB = AC = AD, /FAD = /BAD & o, zx ] gk}
e AL

@ /AED @) acp ® /ABC

@ (DAF ® /BAC

(BAC = 112°
/BAD = /DAF = =(180° — 112°) = 34°
T+

LACD = (180° 112° - 34°) = 17°

b zx = 34° — 17° = 17° ©]|t}.
. /x = /ACD = /ADC




4. & AABC oA /B = /ACD,
18cm, AD = 10cm € @, BD ¢
“Fotod et

=1 cm

| 2
[> el 224 cm

S8 \
(B=/ACDO|1 /A¥E Z5o|BE

AACD 2 AABC (AA BS)

- 10:18=18:AB

AB = 324cm

. BD = AB-10 =324 - 10 = 22.4(cm)
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6. o2 I"T o] AD//BC 9l AFtte]E ABCD o4 OA : OC =1:2
olt}. AAOD = 48cm? ¥ wj, DABCD 2] Ho]=?

A D
(9)
B C
@432cm2 @ 480cm? @ 562cm?
@ 600cm? ® 642cm?

S5 \
AAOD : ACOD =1:20]B2

48 : ACOD =1:2 .. ACOD = 96 cm?

ojmj AABD = AACD ©|E&

AABO = ACOD = 96 cm?

E AABO:ACOB=1:29°]E=2

96 : ACOB=1:2 .. ACOB = 192 cm?

. DABCD = 48 + 96 + 96 + 192 = 432( cm2)




7. the 24 F 17} sABCO WAL W o = () oItk
()] Qe HE Tatolet.

A
a
45/ 1 25
B C
[ =
> e 20

A 17} AABC 9] Yjdoln 2
/x4 45°+425°=190°
L /x=20°




2 HPAHHEYP ABCD oA H M2 BC 2] FHoltt.
BD = 12cm & ©f, BO ¢] 4o]& +o}d?

@ 3cm @)4cm ® 5em @ 6cm ® 7cm

AD //BCo]E2 /OAD = /OMB (%17}, /ODA = /OBM (91
7

wakA AOAD &2 AOMB ©]t}.

AD:BM=2:1°]2& DO:BO =2:1°]t}.

BD =3BO =12

. BO = 4(cm)




ol

v
fe]

op
T8
Njo

ol

i

olJ
s N
~ -
Ny
<8 m
L
Ngr
U~
1] SN
oll BT
N
=
~ T
m oo
T B
Nor
T %
o U

=7

=
—

® wHAge gol} ok

7o) 277}




10. o 139 Althe]&E ABCD = AD//BC,A0:0C=1:3
AABD = 20cm? & 1, ADBC ¢] Hol=?

A D
9)
B C
@ 30cm? @ 45cm? 3)60cm?
@ 75cm? ® 90cm?

AABO : AAOD =3:1, AAOB = 15cm? ,
1:3 =15cm? : AOBC , AOBC = 45cm? ,
. AABC = ADBC = AAOB + AOBC = 15 + 45 = 60(cm?)




11. ©e IYHoA AABC = AB = AC ¢l o]53H478 o AB 9 3
L—EPQEJME UH,ZJH-Zy—JEU]ICO

A
P

B30

D)
Q

@9 @100 @1 @20 ® 130°

‘I

] O]

O

(¢]

Ly = (BAQ(AH)
whhA] zx + £y = /BAC = 180° — 2 x 30° = 120° ©|t}.




12. o3 I™d 3 Zo] aABC A B = A
/ACD, AC = 12¢m, AD = 9cm ¥ O, n
BD ¢] dol&=?

@ 4cm @ 5cm ® 6cm

@®)7cm ® 8cm

/B =/ACD, /A F50|B=2
AACD O AABC (AA H 1::)
9:12=12:AB

AB = 16cm

- BD=AB-9=16-9="7(cm)




13. o3 IdelA aABC =

AB
BD =BC ¥ I, zx o] 27|19

@® 30° @ 32° ® 34° @36° ® 38°

~&B

AABD 7} o] SHAZIEo| R &2 /A = /ABD = x° 0]
(BDC = /x+ /x = 2/x

IS ABCD & o]5HAZIg 0|22 /BDC = /BCD = 2/x
AABC 7} AB = AC 9 01%334.?7453 de=

(ABC = /ACB = /BCD = 2/x

wr2bA AABC 9] HiZte] i} o]-g-5tH

/X + 2/x + 2/x = 180°

oo /x = 36°




14. o2 133 o] AD//BC ¢l Altta]E ABCD A AAOB = 80cm?
,2DO = OB ¥ ©f, ADBC 9] §o]&?

O
B C
@ 180cm? @ 200cm? @ 220cm?
<@)240cm2 ® 260cm?

B ~

AAOB = ACOD = 80cm?

T, 2DO =OB °|E2 &

-. ABOC = 160cm?

mekA] ADBC = ACOD + ABOC = 80 + 160 = 240(cm?)




15.

oS 1304 A 1+ aABC 9] WAook AELBC ¢ o, /DAE 9]

717

25° o

@ 15° @ 17 ® 18° @20° ® 22°

B

LA =180° - (25° 4+ 65°) = 90°
(DAC = % X 90° = 45°

(EAC =25° o]B&2
- /DAE = 45° — 25° = 20°




